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I

Instead of searching as usual neo-classical foundations for Keynesian macroeconomics whatever their vintage, Trezza's contribution is a genuine attempt to prove that it must be built on Marxian foundations. Trezza's core Marxian economics is the Graziani's interpretation of Marx value cycle which is the well-known Italian version of the theory of the Monetary Circuit. Trezza's model of the capitalist economy is divided into two parts.

On one side there are the conventional Keynesian (or rather Kaleckian) relationships Y, W, P, h*, Cw, Cp, I, G, being aggregate income, the wage-bill, aggregate profits, the desired share of profits, workers and capitalists consumption, their respective propensities to consume, investment and net State expenditures (the so-called deficit).
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G being given, capitalists as firms fully control aggregate profits I and their saving rate [5], which determines aggregate income [1] through the wage-bill as the adjustment factor. Trezza is right, the [1] to [5] system as such is empty, deprived of any explanation power because it has been set up independently of the monetary structure of the economy. Herein is the logical flaw (if not curse) of Kaleckian and conventional Post-Keynesian macroeconomics.

One ignores how aggregate income is generated and therefore how capitalists can get their profits at all. Identity [5] combined with [1] is nothing but the generalisation of the Keynesian multiplier taking care of the distribution factor h*. How does it operate in the monetary economy of production is a mystery which cannot be solved.

On the other side there is the monetary Marxian value cycle. As firms capitalists start the production cycle with a given stock of money or variable capital Kv. It is the sum of their inherited stock of money capital generated by past production cycle εKv and of their new net borrowing to banks (equal to gross borrowing minus financial commitments of interest and reimbursement) ΔBf. Firms invest Kv into the payment of the wage-bill W to get their required cash-flow F*. The cash-flow is equal to the excess of monetary receipts over invested money capital. What determines the required cash-flow is the required rate of surplus value m*, the ratio of the cash-flow to variable capital. Monetary receipts are the sum of the State net expenditures and workers net indebtedness to banks. The Marxian set of relationships is therefore:
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From this system stem very crucial propositions:

1. The Marxian surplus value being the monetary cash-flow, F must always be positive. Capitalists must always get more money than their invested money capital (Marx M'-M is met).

2. Contrary to the canonical Marxian value cycle, F is entirely determined by exogenous factors relative to firms plans. Herein lies the effective demand explanation of the surplus value. Assuming no workers debt to banks, F is equal to the State "deficit" and therefore to the State net creation of money. It is the proof that the so-called "sound public finance" is fully inconsistent with the very existence of capitalism:

The whole "State deficit" is transformed into variable capital and therefore into labour in the future production cycles, whatever the composition of State net expenditures.

An important corollary of this proposition is that the so-called "tax and spend" way of fiscal policy (always matching the rise in public expenditures by a rise in taxes) is unsustainable because taxes destroy money and therefore cash-flow.

3. One could argue, like Trezza, that  workers net new debt could grow at such a rate that it compensates for the tax squeeze. In any case, net workers saving(whatever its form(is inconsistent in Trezza's model with sound finance. It leads to a negative cash-flow (negative surplus value) reflective by an equal destruction of variable capital. W must fall by a much greater amount as firms strive to restore a positive rate of surplus value, and they are doomed to fail:

State thriftiness either leads to a growing deficit of the household sector, or to a collapse of the value generation process (which is the true crisis).

In the long run workers desired new net debt is not exogenous because it is constrained by the growth of their income reflecting their ability to meet their financial commitments. Assuming a G = 0 long-run policy, just to maintain a given rate of surplus value relative to a stock of variable capital increasing over time, workers net new debt would increase so much that sooner or later it must reach the sustainability threshold beyond which the accumulation process cannot be maintained. Herein lies the difference between the two modes of plus-value generation:

State generation through G

Workers generation through B(h

No objective limit

Objective limit

The State cannot be bound (constrained) because it enjoys the power to create money

They are bound because they do not control their income (m* is imposed on them). They have of course no monetary power

As a consequence, the "public debt" is not a net burden

"Workers" debt is not a burden

4. Firms only borrow to banks because they have to adjust their inherited stock of variable capital to its required level. Firms new net debt is therefore, for a given rate of surplus value, determined by the increase in the given cash-flow.

[11]
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Herein lies a crucial difference between Trezza's model of the monetary circuit and the canonical Graziani's model:

Graziani

Trezza version

Bf is always positive because Bf  ( W

Bf > 0 if and only if (F > 0

εKv ( 0

εKv is always positive and growing

No demand for money capital in the form of the desired stock of variable capital

There is a demand for money capital as the desired stock of variable capital

What explains the difference is the existence in Trezza's version of a cash-flow that must always be positive, while such a constraint does not exist in Graziani's model. For Graziani capitalism can (or rather could) exist without a positive G and B(h, while in Trezza's version of the Marxian circuit it is impossible. It is indeed a crucial debate which is addressing the whole theory of the monetary circuit (including mine).

II

The two systems are interdependent. Herein is Trezza's core proposition:

The Marxian system can be transformed into a unique Keynesian system. Reciprocally no Marxian system exists without a Keynesian system.

The proof lies into the dual nature of F. It is both the effective cash-flow resulting from the monetary circuit and a component of capitalists rise in net wealth as the increase in the desired (and therefore owned) stock of variable capital. The other component of net wealth or capital formation is the increase in the stock of fixed capital Kf or investment. What is logically capitalists rise in their wealth but the excess of their income over their consumption. According to Treeza one cannot doubt from a Marxian perspective.
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What is now F but the excess of the P income over the aggregate capitalists expenditures. F must be accounted as capitalists net saving which is transformed into variable capital and therefore into labour in the future value cycle. From identity [13] one could derive a major proposition relative to the nature of saving spelling out a synthesis of Keynesian and classical economics:

Capitalists saving is the existence condition of reproduction and growth.

Workers saving is an obstacle to reproduction and growth.

It is automatically transformed into variable capital.

It destroys variable capital.

A following step is to interpret I as the outcome of a desired long-run ratio b to aggregate profits which are therefore always equal to:

[14]
P = F / (1 - b - Cp)

[14] is a multiplier relationship according to Trezza. The transformation would be proven.

F being exogenously given as the outcome of a net creation of new money, b and Cp being given, they determine capitalists saving rate. F generates through the multiplier process a unique level of P. Since the wage-bill is already determined by F and m*, which usually requires a specific creation of new money, aggregate income is perfectly determined(which means that the Keynesian required share of profit is fully determined by m*, b and Cp. For a given saving rate of capitalists, any rise in m* must be reflected by a rise in h.

A full proof of the transformation theorem requires the interpretation of the b factor. Being the ratio of the rise in Kf to P, it is reflecting the change in the ratio of Kf to εKv which is the Marxian organic composition of capital. Assuming a long-run invariant level of b leads to the proposition that in the long run capitalists maintain an invariant composition of capital k* by adjusting I to the exogenous growth of F. It is rooted into the existence of the long-run stable relationship between m* and k*:

m* being given, it requires a unique and invariant over time k* to sustain the money value of the stock of fixed capital. Inversely for any level of k* there is a unique and invariant over time m* adjusting k* to its effective level.

Herein is the explanation of the constraint of an always positive cash-flow. It is the existence condition of the value of Kf and therefore of the accumulation process itself. The greater is F, the higher is the desired value of the wealth embedded into fixed capital, the greater must be I to maintain the desired organic composition. It is a very interesting result, leading to an ultimate appraisal of Trezza's theory of capital relative to Marx.

Marx

Trezza

Marx-Keynes synthesis

In the long run k rises because the rise in (Kv cannot match the growth of Kf

In the long run capitalists control k being free to adjust I to F

Therefore there is a fall in the rate of profit

No fall in the rate of profit

which commands I

No long run fall in I which, m* given, is controlled by the exogenous growth of F

and therefore growth which is impossible in the long run

Long-run growth is therefore possible

III

One must doubt the transformation equations [12] and [13] because they are not homogenous(adding quantity of different nature. By the very structure of the model neither I nor Cc are expenditures because new net money creation is identical to the sum of F and ΔBf. P cannot therefore be interpreted as an income to be divided between expenditures and saving. The multiplier equation [14] does not remove the contradiction because no multiplier process exists at all. At the end of the monetary circuit capitalists get as monetary income(which is their true income(what has been injected to finance F. Being identical to F their income is identical to their desired saving. Profits being capitalists income by their definition, the system is bounded by the identity:
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which logically defines the aggregate monetary income as the sum of two monetary components, Y'
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Y and Y' being strictly heterogeneous it is logically impossible to transform Y' into Y and reciprocally Y into Y'. They relate to entirely different notions of "profits" and therefore to entirely different economies: one which does not depend on money (the Y economy), one which relies on money as its existence condition, money being obviously non-neutral independently of any kind of preference for liquidity (the Y' economy)

In Trezza's Marxian economy capitalists get in kind, independently of any equal expenditures, a share of output they are free to split between their real consumption and their desired real accumulation of fixed capital (investment). Ultimately one is led to a generalised version of Graziani's theory of the monetary circuit.

For an exogenous F, capitalists control both the quantity of labour and its distribution between output that must be sold (or realised in money) to workers and State and retained output (not realised in money). Retained output is absorbed by capitalists consumption and investment. The "profit" aggregate is henceforth the ex post accounting of retained output accounted in money to which is added the monetary income F. What makes sense of this aggregate is that all its components are accounted in money while being of a different nature.

The higher is the desired retained output in money terms, the higher is the ex post aggregate "profit". Assuming again an invariant k*, the growth of F is reflected by enough increase in desired retained output to maintain a stable ratio of P relative to F. It means that P is no more an "income" in the Keynesian sense of the same nature than W.

In guise of conclusion, herein is a very important contribution to monetary theory and therefore to the positive science of economics which has been the lifelong quest of Augusto Graziani. Trezza's model is ultimately rooted into one crucial axiom:

Money exists because it is the ultimate existence condition of capitalism. It is therefore fully inconsistent with any version(old, modern, post-modern(of neo-classical economics.

He proves, at least from my interpretation, that money cannot exist without the State and the State enjoys the power to create money denominated in its predetermined unit of account. In the long run any constraint of the so-called "deficit" is inconsistent with capitalist accumulation and the very notion of "deficit" is irrelevant to qualify the State contribution to accumulation.

Such a major conclusion contradicts any effort of restoring Austrian economics as spelled out by Menger and its modern followers. There are indeed many questions raised by Trezza, for instance:

What is the underlying price theory?

Is it possible to assume that investment is not backed by a specific money creation?

Having tried to answer these questions in my own contribution to the book in honour of Augusto Graziani, I do not want to address it again. As my last word I want to add that Trezza's paper made me think a lot and raise many questions to myself.
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